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PSYCHOLOGY

(Developmental Psychology)

Paper–I

Time Allowed : 3 Hours] [Maximum Marks : 50

Note : Attempt five questions in all, selecting at least

one question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.

izR;sd bdkbZ esa ls de&ls&de ,d iz'u dk p;u
djrs gq,] dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u
la[;k 1 vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Compulsory Question

(vfuok;Z iz'u)

1. Write short answers : 2×5=10

la{ksi esa mÙkj nhft, %

(a) Learning and Maturation.

lh[kuk vkSj ifjiDorkA

(b) Motor Development.

xfrokgh fodkl

(c) Uterine Density.

xHkZ ?kuÙoA
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(d) Cephalocaudal Law.

eLrdks/kseq[kh fu;eA
(e) Endocrine Glands.

vUrkÏkoh xzfUFk;k¡A

UNIT–I  (bdkbZ–I)

2. Define developmental psychology and explain the

concept of developmental psychology. 10

fodklkRed euksfoKku dks ifjHkkf"kr dhft, rFkk blds
lEizR;; dk o.kZu dhft,A

3. Write in detail the cultural factors of Human

Development. 10

ekuo fodkl ds lkaLÑfrd dkjdksa dk foLrkjiwoZd o.kZu
dhft,A

UNIT–II  (bdkbZ–II)

4. Explain in detail the stages of Pre-natal development.

10

xHkZdkyhu fodkl dh voLFkkvksa dk foLrkj ls o.kZu dhft,A

5. Write down the characteristics of infancy stage and

explain the hazards faced at this stage. 10

'kS'ko voLFkk dh fo'ks"krkvksa dks fyf[k, vkSj bl voLFkk
esa vkus okys [krjksa ds ckjs esa crkb,¡A

UNIT–III  (bdkbZ–III)

6. Explain cognitive development during childhood.

10



ckY;koLFkk ds nkSjku gksus okys laKkukRed fodkl dk o.kZu
dhft,A

7. What do you mean by adolescence. Write down the

main characteristics of adolescent age. 10

fd'kksjkoLFkk dk D;k vFkZ gS\ bl voLFkk dh eq[;
fo'ks"krkvksa dk o.kZu dhft,A

UNIT–IV  (bdkbZ–IV)

8. Throw light on the problems of adulthood and aging.

10

O;Ldrk vkSj tj.k voLFkk dh leL;kvksa ij izdk'k Mkfy,A

9. Calculate standard deviation. 10

ekud fopyu dh x.kuk dhft,A

C.I. f

85 – 89 1

80 – 84 1

75 – 79 2

70 – 74 3

65 – 69 9

60 – 64 8

55 – 59 2

50 – 54 1

45 – 49 1

40 – 44 2

N = 30

1565/K/98 3


